Acceptable forms for the entropy
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dimensions ok; extensivity ok, grows like NV
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dimensions ok; extensivity bad, grows like N?2/3
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dimensions bad: entropy X energy
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extensivity ok, grows like N
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dimensions ok; extensivity ok, grows like N

S(E,V,N) = kgNIn(EV/N?kTyuvo)

dimensions ok; extensivity ok, grows like IV

S(E,V,N) = kgNexp(—EV/N%kpuvp)
dimensions bad: exponent has dimensions of temperature;

extensivity ok, grows like N

S(E,V,N) = kpNexp(—EV?/N?kpTovd)

dimensions ok; extensivity bad, grows like Ne~ %V



